3 S 3
12 12 1z
1z 1= 1z
< 1= EE - 1=
o)
el - .
E ¢ E 1+ E 1=
o o
Jmuiy Jus " | ST |
Bramifos 2 7 B amfiaos 2 7 5 ramifos 2 7 -
. *
]2 3 E 2
& 12 12 EES
1z 1s 1z 1s
1. 1. 1. 1.
™ ~ 3 Too. 7
E E .
-
3. = 3. ] =
12 8 = 8 S 8 IS 1=
a o
1= 1= 1= 1=
1= 1= 1= B
|- |- - Jus |- -
- - - > = . . :r 1_I . |- |- - h- .T - - Jus |-
o & T o 5 5 o g 2 B B B & B
[Syaiznfedois =) [Srarzfedors = g [SyarzHfRdors S 2 g [SrarzfRdors = g
= = = *
RE EE 12 2
1= EE 1= EE
~ © o <
m - - -
i ] - -
£ 8 m B c 1= IS 1s
o o
| ST wos bemirs beuies bemuss TR TP TP = " | ST
BamBasd & 8 & P — 1 - ,o .:m_...:. 1r..:ﬁr L e e s b
Is 2 g [Svarfedos S ER] [SvarzHfRdos 3 2 g [SvazHfedos & 7 g
T o . * %
- iz 1z 1z 2
; & & & &
w
R 1z 1s 1z 8
3
{
. 1.
) 2 EE 1= g
-~ s 10 o 2 ’
m . — — S
1s S 1s e
g 3 2 E) £ 1s S
o o
1= 1= 1=
1= 1= 1= s
Jus - L | | ST Jus Jus
Shamidos 3 2 g [Svaribdos = (Sharmidos 2




Slope at threshold 25

hSlopeMean0
3 Entries 960
10° - Mean  -0.3145
— RMS 1.497
— Underflow 22
B Overflow 0
B Integral 038
102 — Skewness -4.779
10 =
T
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-10 -8 -6 -4 -2 0 2 4 6 8 10

Slope [Hz/DAC]



Slope at threshold 50

hSlopeMeanl
3 Entries 960
10° - Mean  -0.3462
= RMS 1.359
— Underflow 0
B Overflow 0
B Integral 960
102 — Skewness -4.068
10 =
1 —
: | | HI H HHHI | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-10 -8 -6 -4 -2 0 2 4 6 8 10

Slope [Hz/DAC]
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10

Slope at threshold 100

hSlopeMean2

Entries 960
= Mean -0.06986
- RMS 0.3695
— Underflow 0
B Overflow 0
— Integral 960
— Skewness —7.062
_ 1 1 | | 1 1 | | | IH | |H | H | | H 11 1l | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 |
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Slope [Hz/DAC]
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Slope at threshold 200

hSlopeMean3

Entries 960
= Mean -0.002276
— RMS 0.02002
— Underflow 0
B Overflow 0
— Integral 960
| Skewness 3.886
L1 11 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
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Slope [Hz/DAC]
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